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Chemical Reactions Review

sing your notes complete the Summary chart beiow:
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Colours: A = Red, B =Blue, C = Green, D = Yellow

Use coloured pencils to circle the common atoms or compounds in each equation to help you determine

(' .the type or reaction it illustrates. Use the code below to classify each reaction.
y

S = Synthesis

S P+ 0; »POro
D Hgo - Hg + 0,
50 ¢l + NaBr— NaCl + Br, S
_S#Na + Bro — NaBr
ngO + Clz = HgCl +O» 3
D xcios - Kol + 0,

O0 Bact, + Na:SO, — NaCi + Baso,

SO Pb +H.S0, — PbSO; + Hy D

D = Decomposition

S Mg+02—>

SD = Single Displacement

MgO

D Ao - A+ 0

Hz + Ng—* NHa

DD cucl, + H,S — CuS + HCl

C+H2-—+

L

83+F2—+

CH.

SFs

DD NaOH + HCl — NaCl + H20O

N204 - N02 + NOg

DD = Double Displacement



SNC 2Dl Single and Double Displacement Reactions Practice

Complete each equation by

)}
)
Iy

1.

Writing the correct products
Balance the equation if necessary
Identify if the reaction is a single displacement OF double displacement

BGO{S) + Mg(s) — mﬁO {C.\ + a{S\

Balanced Equation: BGQ(C) t m‘:} (5) 2 m30m + Ba )

Type of Reaction: 2D

Ca(OH)zaq) + HClagy — CaClq gy = H, Oy fl)
Balanced Equation: Ca(OH\Q/ac’L); + AHU¢ ag) 2 CoCl; (a9) t aH,0 )

Type of Reaction: D D

MgC|2(aq) +Sl'(s) — Sr Cl'l {Q\J 1 Mf("r {S)

Balanced Equation: MchJ 2(a9) T Sf(s) > 'mg (8) _+ Srllycs)

Type of Reaction: S 0

Ca(,) + HzOm—) CQ (O H) v (a?'} + HZ (J) m?)

a—

Balanced Equation: __ (0 (5) +2Hh 40 v Ca(o H)-;,[aq) + Hyc j)

Type of Reaction: SD

NaOH(yq + HBrpg — [\,(R B\’fae?) + H,0 (‘el

Balanced Equation: No OH(M') * HBr(ﬂwﬂ > Nabr (ag) + H,O (W)

Type of Reaction: PD

Balanced Equation: 2K0H (aq) + H,50w ag) ¥ £, S0y (ag) + 24,0 @)
Type of Reaction: D D

AgzSOy) + Cu(NOs)zaq) — _&g_lﬂ)_}@m}, + CuS0y 50
Balanced Equation: 9251.504 (5) ¥ CM(NO}\'I;@ =3 Zprﬂ} Nog,(aap + CuSOH(S) O

Type of Reaction: D D




